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1) (2)main (€)] &3

p8

) cin (3)

main

Backus-Naur




—— ASClI
‘A’:65 ‘B’:66 ‘a’:97 ‘b’:98

1 if(c>="A’ c<=‘Z’) c=c+‘a’-‘A’;

2 '0°-0’=0
=l
DR

001’ (01); ASCII
A 4101’
ke




“ABC” “\n GOOD BYE”
wpn  «pr

#define Pl 3.1415926
p20 c PASCAL

34
3.4.1 I/0
€
)

ch2_1.cpp

/
c

1)  printf
printf(

p28

2) scanf
scanf(
printf

3) getchar putchar
. getchar()

char c;
c=getchar();

putchar(c )

printf(“%c”,c);

#include<stdio.h>

main()

{char c1,c2,c3;

cl=getchar(); c2=getchar(); c3=getchar();
putchar(cl); putchar(c2); putchar(c3);
putchar(*\n”);

}




(' printf-scanf )
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4.4

©

(1)char, short — int ; float —double (
) I

) El E2 E2

(4) ( )

@
+ - % %(
© /

int i =15;

float f ;

f=i/10;

printf (“f=%f\n", f);
f=1.000000

f = (float)i/10; f=1i/10.0;
f=1.500000

mini <= value <= max C
@
mini<= value && value <= max




s[i++]=c;
s[++i]=c;
W+ -
@
®3)

int i=4, j=6;

sfil=c; i=i+1;
i=i+1; s[i]=c;

ST

p40~41 p49

00000000 00000100

00000000 00000110

k=i&;j
k=i
k=it

©)
@cC p34
(b)C X=y=i*};
(©) c
op= p37
El=(E1) op (E2)

E1l op= E2

%= i"pg
at+=a-=a*a

i = i*(i*p+q)
a=a-a*a; a=a+ta;

E1 E2

t=2,t+3




f1(a,(t=2,t+3),c)
o for

©)

El E2 E3
El

z=(a>b)?a:b

p35 3-1

@) c
PASCAL
(2

i++; a=getchar();

{intc; c=getchar(); putchar(c);}

goto

5.4 if
if(
[else Y
if(a>b) ; if(a>b) {z=a; a++;}*
else z=b; else  z=b;




5.5.1 while
while ( ) S
p54 4-1 ch4_1.cpp

5.5.2 do while
do S while( )
p56 4-2 ch2_2.cpp




switch(
case 1
case 2

case
[default
}

case

switch(i) {

case 1:

case 2:

case 3:

case 4: a=a+b*10; break;
case 5: a=a*c;

case 6: a++;

}

( ch4_9.cpp)

int ndigit[10];

static char s[LENG], ds[3][3];
int array[]={1,2,3,4,5};

pl20 7-1

(p120
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@c 0
il 0 (n-1)
ndigit[0], ndigit[1], ..., ndigit[9]
ss[0][0], ss[0][1], ss[O][2], ..., ss[2][2]. p123 Fibonacci

@ (1

© ‘0
char line[100]; 99

line [a ldfolghdl ... ]

012345
p123 ch7-1.cpp

1) scanf (cin>>str
char str[13];
scanf(“%s”,str);
H )

2) @ gets(str) C++ cin.getline(str,'80)
pl24 7_1.cpp

(3)scanf &
scanf(“%s”,str);

4)

puts( stremp(
gets( strlen(
strcat( striwr(
strepy( strupr(

6.3

#define | 3
#define J 5
int tab[1][J];
tab 1*J
pl30 7 4




char string[]=“INTRODUCTION";

char string[]={“INTRODUCTION"};

char string[]={‘I’,‘N",*T",‘R’, ... ,'N’,"\0’};
int x[2][2]={{1,2,3},{4,5,6}}; {1,2,3,4,5,6};

1) 1 CH+
) J p125 ch7-2.cpp
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p78

1)
ﬁ \
Cregister > o

static extern




G C

(6)p84~85

7.3

sl.c| #define . . .

(ii)c
a.

cc -0 exec-sl.c s2.c< >
b.

cc -c sl.c< >
cc -Cc s2.c< >
cc -0 exec sl.o s2.0< >

s1.0(.obj)
s2.0(.0hj)

f2()
sl.o

auto, static, extern, registe




c
p110~111




) int
(©)
4)

auto_static()

{

int auto_var=0;
static int static_var=0;
printf(“auto=%d, static=%d\n”, auto_var, static_var);
++auto_var;
++static_var;
}
main()
{. .

inti;

for(i=0;i<4;i++)

auto_static();

}

PASCAL C
n! n! = n*(n-1)!
p87 88

inline po9l

inline p9l
for, switeh

#define

typedef




int *pi;

s —@{ J—

int i, *pi;
pi = &i; pi i Ox2FFF OX2FFF

pi

—1  OA NGO
P

int *pi;

int **i;

int *f();

int *a[l;

L menfs




inti, *pi;
pi = &i;

*pl e

i=0; *pi=0;

litgtd (Fpi)++;
pit; *pi; pi=pi+1;

int x, *px, *py;
px = &X;
py = px;

auto, register, static  extern
(px=py)
int *p; *p=2;
/ / auto
int K[5], i;
int *ptrl = &K[1], *ptr2 = &i;

swapl(int i, int j)
{int temp;

main a b

swap2(int *pi, int *pj)
{int temp;
temp = *pi;
*pi = *pj;
*pj = temp;
} swapZ%

main()

{int a=15, b=20; .
swapZ(&a, &b); main <2002 b

}

2000 a

swap2
main a b

©

PASCAL




int array[8], *parray;
parray = array;
parray = &array[0];

array[0] [  [2]  [3] 14 ) [6] array[7]

*parray array[0] *array parray[0]
*(parray+i) array[i] *(array+i) parray[i]
parray+i &arrayl[i] &parray[i]

array++ parray++

p162

main( ) slength(s1) slength(s1)
{char name[10]; char s1[]; chan*s1;

name[ [TTTTTTTT]  p162 87

sl

p+n p
n
char(l) short(2) int(2) long(4) float(4)
double(8) (sizeof( )] (sizeof( )




©)
p1-p2(p1>p2)
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8.5

char *lineptr[100];
p171
p171,172

main()
{static a[5]={1,3,5,7,9};
int *num[5]={&a[0],&a[1],&a[2],&a[3],&a[4]};
int **p, i;
p = num;
for(i=0;i<5;i++)
{printf(“%d\t”, **p); p++;}

C main
main

DOS/UNIX echo main
>echo teacher student<
1 2

main argc argv arge

argc 3(

echo |teacher|student

|

argv[0] argv[l] argv[2]

main(int argc, char *argv[])

while(--argc>0)
printf(“%s%c”, *++argv, (argc>1)?* *:‘\n’);

argv

exec 5 6.3 student<




main(int argc, char *argv[])
{

inti;

float f;
sscanf(argv[1],“%d”,&i);
sscanf(argv[2],“%f”,&f);

sscanf(char *,
sprintf(char.*,

871 0 01234567829

char ss[10],*p;
p = ss+5; T

p[0] ss[5]
p[1] ss[6]
p[-1] ss[4]

8.7.2
static int a[3][4]={{1,3,5,7}.{9,11,13,15},{17,19,21,23}}, (*p)[4];

p179

0
a+l

a[0][0]
int a[l] a[2] 1 2
ati int (*)[4] a+i &aJi]
ali] int* a[i] &a[i][0] a[il+)
&alil[j]

&ali] afi] a[il

a[i][]
&afi]  afi]
&afi] ati i ali] *(a+i)  a[il[o]

*(pi) afi]
pli0] *(“(p+i)+) *(*(ati)+) a[ili]
@
p132 int (*grade)[4]

8.7.3
char *c[] = {“ENTER”,“NEW”,“POINT”,“FIRST"};
char **cp[] = {c+3, c+2, c+1, c};
char ***cpp = cp;
main()
{

printf(“%s”, **++cpp);

printf(“%s”, *--*++cpp+3);

printf(“%s”, *cpp[-2]+3);

printf(“%s\n”, cpp[-1][-1]+1);
}
POINTERSTEW




8.7.4

®*C )

pli] *(pH)

@*p CpINIC ) N
pli] *(pH)

pli0] *(p+i)0] *(plil+))
@**p CpIMINIC )

2(*(pHi)+)

p[i] *(pi)

p0] *(p+] *(*(p+i)+])
POIGIIK] *(p+i) 0K *((p+i)+i)IK]
*CC(pH)+)+K)




9.5 const

)
@

struct date {
int day, month, year;
char mon_name[10];
}d1, d2;

struct date d3;

(2
static struct date d1={12,5, 1990, “MAY"};

©)

struct date d, *pd;

pd = &d;

d.day = 12;

pd->month = 5;
(*pd).mon_name = “MAY”;

(p206)

p212~213
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©)

p219 10-2

10.5.2
p219 ch10-11.cpp




typedef

typedef int (*(*(*POINTFUNC(O))[1)O)LT;
POINTFUNC checkl, check?2;

) typedef

@

©
11.1 #define

11.11

#define
#define TRUE 1
#define FALSE 0

@)
@

()
#define MAXSIZE 100

char *sp[MAXSIZE];

; IKMAXSIZE; i++)

#define INT_SIZE 16 /Imachine dependent

#define ”(macro)

#define max(a,b) ((a)>(b)?(a):(b))
X = max(p+g, r+s);
X = ((p+a)>(r+s)?(p+0):(r+s));

#define SQUARE(X) x*x
y = SQUARE(V); y = Vv*v;
y = SQUARE(p+q); y = p+q*p+q; /lerror

#define SQUARE(X) (X)*(x)
inline

#define OK 1
#define GOOD OK
#undef OK




11.2 #include
© include

constant.h (
header )
#include “constant.h”
#include <stdio.h>

(L)#ifdef, #endif, #else  #ifndef
#define

C
#ifdef PDP11
#define INT_SIZE 16 /IPDP11
#else
#define INT_SIZE 32 /i
#endif

PDP11 PDP12
#define PDP11 1 #define PDP11
b ( UNIX )
cc my_prog.c -D PDP11< >

#ifdef DEBUG
printf(“***Test information\n”);

#endif
-D

Q)Hif

#if MACHINE==

#if MACHINE==2 5 uiefine MACHINE 12 3)
b.

S cc my_prog.c -D MACHINE=2s
#if MACHINE==3

#endif
#endif
#endif







(7)fread  fwrite
int fread(char *pt, unsigned size, unsigned n, FILE *fp)
fp size._ n pt
0
int fwrite(char *pt, unsigned size, unsigned.n, FILE *fp)
pt n*size fp

struct student {
char name[10];
int age;
char addr[30];
} stud[40];

fwrite(stud, sizeof(struct student), 40, fp);
fp
fread(stud, sizeof(struct student), 40, fp);

(0
(1) p232C Savings

(2) p233 C++ Savings

©)




P299 Josephus Josephus Ring
13.2.3

*P293~310 Josephus

183

(inline)

P240~241

) p243

P247~251




p269
13.9
(1) P312
(2)malloc / free  new / delete

int *p = new int;
int *p = (int *)malloc(sizeof(int));
new malloc

14.1 printf  scanf
1421/0

14.3

14.4

14.5

P421~424




